SII3EELR 4H F5t SHI3ESH 58 #5t #1356 H 6 H FA5t

# W B = XA L M= XETELE M= XETELE M= XATELE = XATELE M= XETELE

kg % kg % kg % kg % kg % kg %
BRI L RNL 17,051 94.7 17,051 94.7
AR O—X/\ L 58,562 120.7 58,562 120.7
BB IIE —I\L 420 80.8 420 80.8
N E 76,033 113.4 76,033 113.4
BRAO=7Y—t— 7 1.3 7 1.3
BREIZIITIE)—E—D 3,274 8,615.8 3,274 8,615.8
BRI F—)—— 2,297,156 97.9 2,297,156 97.9
N E 2,300,437 98.1 2,300,437 98.1
BHEAR—> 56,634 99.6 56,634 99.6
BRO—RR—a 0f ——— of ———-
B ag —~_A—ay 0f ———- 0] ——
N E 56,634 99.6 56,634 99.6
& &t 2,433,104 98.5 2,433,104 98.5




SHIETR IGES 348 A 8H #3 SH3EIA 98 A&t
2 A H = AT L = X ETELE X AL = X ATELE = X AT L = X ETELE
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SH3E10R 108 Bt SHSEINR 118 85t SH3E128 128 BEt
2 A H = X ATEE L M= X AT L M= X AT L M= X AT = XA L M= XA L
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SHAE1R ZES: SH4E2R A ES! SH44E3H 3HREt
2 = SR L # = SETELE # = SEIELE # = SETELE # = STRIELE # = STRIE L
kg % kg % kg % kg % kg % kg %
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